TECHNICAL DATA:

. PRESSED STEEL WATER TANK TO BS 1564 PART 2

2. STEEL TOWER TO BS 449
3. STEEL LADDER TO BS 4211
4, ALL FILLET WELDS NOT LESS THAN 6mm UNLESSOTHERWISE STATED
| 4880 1 5. ALL GUSSET PLATES Bmm THICK
| 6. HOLES ON ANGLES AND GUSSET PLATES TO BE@18mm
- 7. ALL WELDS DESLAGGED AND WIRE-BRUSHED
= \‘n\da\ 8. TANK AND TOWER TO BE PAINTED ONE COAT OF RED OXIDE
PRIMER AND ONE COAT OF ALUMINIUM PAINT BEFORE DESPATCH,
2 WITH ONE COAT OF ALUMINIUM PAINT AFTER INSTALLATION.
o) & 9, ALL STEEL SHALL BE GRADE 43
5 10. ALL BOLTS TO BE M16 (GRADE 4.6).
g z 11: ALL BUILDER'S WORK TO BE DONE TO SUITE STRUCTURAL
i ENGINEER'S DETAILS.
2 12. FOUNDATION BASE TO BE ON STABLE UNDISTURBED SOIL
§ it 13, FOUNDATION BOLTS TO BE PROPERLY LEVELLED BEFORE CASTING.
o —1 NUTS HEADS TO BE COVERED TO AVOID CEMENT SETTING ON THREADS
’ \ o| 14 ALL DIMENSIONS ARE IN MM UNLESS OTHERWISE INDICATED.
2
ﬁ A\ Eal -
UB2 m [
= 2
o
= e -
5 i
b=
UB1 406x178x54 ik
o
@ .-
bl &
g = iy
- 7
=3 (=
Ly} Wy
w |
2 g
o pam)
o«
e
“ITL-'/ -
o
= a
= —
2 v - =
i el 2
- 8 -1
=3
2
=
g 7
(=)
w
= W T5a7Schie 34
2
Ll
Lol
b 7 Sxfitx
o
W
o
-~
%
o }
- L3 | : 1 | e | 5
>\\;\ \/ ¥ i | | N /\/»\\\/
SYSGI G it i YA AKAAZE,
. — e
- | i—
3660
GENERAL ARRENGEMENT
FRONT VIEW
ALL DIMENSIONS ARE IN MM UN S INDICATED OTHERWISE
VIKIN DRAWING TITLE CLIENT oRwn MWELESA
A |
INDUST 6.1M x 4.88M x 3.66m P.S.ST on 15M TOWER DATE  28th Sept 2010
""”b ’-:“‘_ e, e MEMBER DAG M. [ REVISIENS. sCALE SHEET OXFAM CHECKED
N—— " part
Ay cupes o oy, ol S B




6100

15007

@20mm x 600mm Ig Bolt

3660

GENERAL ARRENGEMENT

SIDE VIEW

N
=
=
N\ 7] LY
-
L ? Iy /
g [ UBT 406x178j54Kg/m | [ 1] ] |
\H =H |
= H
//IEI 5
& a :I E UB2 254%146x31 Kg/m
% = 2
2| ! | =
é;zfml i
‘ | \+
U ”| soxswin sl | HDB
® =1l saus| [FALL | —
e al: | b
alo| ]
] gl | Hy
i | ML
|4
7
(L / ‘l _|
| y,’j}") =|=//
Pq
& - f |$
gl & L %ﬁ =
< N
e aE }. HDB o
ISy| O 2 s
I % =
2 ' (m
ﬁ j‘i =F
Ey b
6 i
e
) T3a7 5w J4a8kniaig '1
b i !
{ ny'
| | /
- |
= ==
| |
nN
LN
: sl l T
Ty — NAIANANANS
NAN R,

ALL DIMENSIONS ARE IN MM UNLESS INDICATED OTHERWISE

DRAWING TITLE
6.1M x 4.88M x 3.66m P.5.ST on 15M TOWER

CLIENT
OXFAM

[

REvs NG

2caLE EL0d

DRAWN MWELESA
DATE  28th Sept 201¢

CHECKED

DATE




1 1220 | 1220 1220 1220 ‘ 1220
Tt - - - : = -
| — | o o | c
“ i‘l——: TRt T T RS K pim I__j g
\ / N 1
4 =) _j
OUTLET
DRAIN / -
o § o 3
k: # k: # & # -
b :b? 4 | Ny Ny ¥ <
I i i i el i
¥ ¥| mier ¥ ¥ i ¥
¥ ¥ ¥ ¥ ¥ ¥ <
P! % o I kY T @ & & Q
(28] (g2 1 T H H —
3 -y 3 deow 3 .
4 m e
! 5
i m 15 BEE 1114100 R T L] im ol
! |
i | ) - — — — I: -
5] L L] M
| 3660 !
== |
6100
6300

SIDE VIEW
GRILLAGE DETAIL: PLAN

6100

i

I

I

_|_

UBI 406x178x54 Kg/m

T

GRILLAGE DETAIL: SECTION

Intermediate Support

FRONT VIEW

Intermediate Support

UB2 254x146x31 Kg/m

ALL DIMENSIONS ARE IN MM UNLESS INDICATED OTHERWISE

DRAWING TITLE

6.1M x 4.88M x 3.66m P.5.ST on 15M TOWER

TAG_ho. [

RECEIONE

SCALD.

aaaaa

[T

CLIENT

OXFAM

DRAWN  MWELESA

DATE  28th Sept 2010,

CHECKED

DATE




! Ao, M20 - 600 mm. LONG
B o R ———
51 + ANCHOR BOLTS
i
M b
% br
3 & min FILLET WELD ALL ROUND

+ 350x350020 mm THICK.

s
! 51 BASE PLATE
& 152x1 5202 3kgsim UC
?N

BASE GUSSET DETAILS: PLAN

60 x 60 x 6mm L x 4245mmlg

|- Bracings

5/8" x 1 1/2° Grade 4.6 Bolts

216

ANo. Dia 20 - 600 mim. LONG

a

n o
VIEW 'M'
BASE GUSSET DETAILS: SECTION

200 273
e 60 x 60 x 6mm L x 4245mmlg
152%15Tx23kga'en UC 15_5'— N Bracings 1$2%1 52023 kgsim UC Sﬂ_ [ @
“oluma 1 Temn = QEQ >)(
—<5/B" % 1 1/2° Grade 4.6 Boits />?(
T T
AMo. D 20 - &) meo, LONG
ANCHOR BOLTS
o uin ath
VIEW 'N'

ANCHOR BOLTS

254 x 146 x 31Kg/m UB.

8mm Stiffene
E Sec. Beam
|

-.50.. 578" % 1 1/2° Grada 4.5 Bol

|——<5/8" % 2° High tersil Boits - 4hos

i + 4 | 350x350x16 un THICK
a2 30x350x16 o THICK.
CAP PLATE
S/ x 2% High tarail Bolts - aNog
Iﬂlljzﬂ_\kg-'m uC W

VIEW "XX'
CAP GUSSET DETAILS: PLAN

406x 146 x 54Kg/m UB.

4 " mm FILLET WELD ALL BOUNT Main Beam ﬁ 1

v

8mm Stiffeners

—

Sec. Beam to Main Beam connections

406x 146 x 54Kg/m UB.

—
5/8" x 1 1/2" Grade 4.6 Bo]ts>—\ il Main Beam
s Nwatkaan B Y 254 x 146 x 31Kg/m UB.
y| Main Beam Vs 8mm|Stiffeners P LY .
10 - q 7 ad I Sec. Beam
> ¥ s T
» o 50 60,60 Hl
5/8" x 1 1/2" Grade 4.6 Boitr»—\ i 75x75x6tx 3448mmlg
! # = o Bracings B
] F 'i{i — L
2 - Z 91 VIEW 'WW'
6 $/8° % )1/ Grada 4.6 Baits Sec. Beam to Main Beam connections
X 200 ) X
} 60 x 60 x 6mm L x 4245mmlg
271 Bracings 1 TS L
152x152x23kgs/m UC | A /__"’“’" 406x 146 x 54Kg/m UB.
Column D (I Main Beam
Main Beam to Col ; . ﬁ' + | ——<5/8° & 2% High tarsil Boks - +hes
STANCHION TOP DETAILS 5 Sl Py
CAP GUSSET DETAILS: SECTION | s
fl g -+ 4+ | . 350x350x16 mm THICK
| CAP PLATE
Y —
ALL DIMENSIONS ARE IN MM UNLESS INDICATED OTHERWISE VIFW 'WV!
F ¥ DRAWING TITLE CLIENT DRAWN  MWELESA
Ty - 6.1M x 4.88M x 3.66m P.S.ST on 15M TOWER GREAH I —
3t MO ORG. WD, = REVISIoNE. SCALE Sren CHECKED




3 = T 23| s .
H |
_E Y 2 ﬁ_
o
O
O
o)
78x75x6 mm THICKx 1408meml g T r
RS ER
—— - T4x75x6 ? THICKx 340 mm! ? ‘:T"_-,_,.
i saS pie UG j=;[ .i! it Ij—.— lg
' 3660
. DI»\GO‘-'J\LHDB
200
&mm thk Gusset u bcb /_= !\/
,X A
“‘*’ﬁ\._ 5/8" x 1 1/2" Grade 4.5 Bolts
SR
¥
™
INTERMEDIATE JOINT
152 _ S Ly
| A 272 200 A
] - = T\

A5 %0 75x75x6tx 3448mmlg 60
4 Bracings '
P‘ | 1, o1
- RS

5/8" x 1 1/2" Grade 4.6 Bolts F é s
6 f 60 x 60 x 6mm L x 4245mmlg
Bracings Coliinin

431

Column
e Ve Column to Column. \/
L mlJ
SPAN GUSSET DETA[LS ALL DIMENSIONS ARE I.’\\{:!:’\?&IJSH INDICATED OTHERWISE
DRAWING TITLE CLIENT oaN Sk
‘, 6.1M x 4.88M x 3.66m P.S.ST on 15M TOWER OXFAM o
SHEET CHECKED MWELESA

MEMBER TRG.ho RV REE TN SCALE

| DATE




HDB

4

g Sl ; . -
—_—t
K== 1 T | ’_= A
75x75x%6 mm THICKx 3408mml, 2
75x75x6 mm x4715mmlg
T I t =
= § E ; } _ '
=t [+ 1 3 Eed A
. G P [ EA 75x75x6 mm THICKx 3408mmlg [ PR O
150x150x23 kgsm UC |
200
3660
.q GUSSET PLTS & HORIZONTAL F
DIAGONAL BRACINGS DETAILS

=
o
o S
2 w
S
£ ] | R
o~

| |

A o

i [

EA 75x75x6 mm THICKx 3408n
i 50/50[50
Dx150x23 kgs/m UC
200
276
— - ALL DIMENSIONS ARE IN MM UNLESS INDICATED OTHERWISE
| = —c——
DRAWING TITLE CLIENT -
..... “ 6.1M xj,ssm X 366m P.S.ST on 15[ﬁ1 TOWERM R o onsen o1
| DATE




750
Alg Ale
b ] 1 < ] =
L ] ~ ] L bl
=
&
oy
Alg -
Nz 4 |l FH]
|£-° " k"c
<7 57
3660

TYPICAL FOUNDATION DETAILS:PLAN VIEW

7 - ) ] |
| S0 @20mm x 600mm lg Bolt I 320
E ’% ZLTE [ |- 7 Ground level % (I |- 7 Ground level
= L+ Py A AAIEIEN | IYY
2N IV |5 58  RESZSAIN A )V |5 152 NESGE
DOV IEIRKLL W BEIRKKL
o AL WANYNY NAYAS NN
[
& Y 10@200 Y10@200
- - g
= =
i — — = I
Al yizazso Y12@250 = =
[6a] uy uy
o0 H o
o =)
= 1500 1500 5
1600 1600
FOUNDATION DETAILS
I« -] L
.3 GENERAL NOTES
| -50 . -0~ 1. Base to be on stable ROCK
=4 - I 4No. M20 - 600 mm. LONG 2. Concrete to be grade 20 of mix ratio 1:2:4
l N ANCHOR BOLTS 3. Maximum aggregate size to be 20 mm diameter.
# { & 4, Filling to be done with compacted Murram.
+ 6 mm FILLJ:"I' WELD ALL ROUND 5. Bolts to be properly levelled before casting.
4 e 350x350x20 mm THICK Nuts heads to be covered to avoid cement setting
BASE PLATE on threads.
6. For Ifo site, Build Trenches to control Floods Waters
15215223k gs/m UC away from the Tower. To be done by others.
N
BASE GUSSET DETAILS: PLAN ALL DIMENSIONS ARE IN MM UNLESS INDICATED OTHERWISE
DRAWING TITLE - [CLENT bravn MELESA
- 6.1M x 4.88M x 3.66m P.S.ST on 15M TOWER BFE: S Sag EG

KA OXFAM

MEMBES TAG. o, [ rvisiEhs BERAE CHECKED

DATE

4 B Baiobers e |




